
MATHS

BOOKS - UNITED BOOK HOUSE

Trigonometric Ratios of Complementry Angle

Exercise

1. Multiple Choice Questions (MCQ) value 

is

A. -1

B. 0

C. 1

D. undefine.

Answer:

tan 52∘ tan 72∘ tan 38∘ tan 18∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BljGX21kmmKz


Watch Video Solution

2. If , then  =

A. 

B. 1

C. 

D. 0

Answer:

Watch Video Solution

tan θ = cot∅ tan[ ]
θ + ∅

2

1

√3

√3

3. If alpha and beta are complementery angles, then the value of

 is

A. 0

B. 1

sec2 α − cot2 β

https://dl.doubtnut.com/l/_BljGX21kmmKz
https://dl.doubtnut.com/l/_FiEAFY32nPeS
https://dl.doubtnut.com/l/_LCF4dZalSG4Z


C. 44228

D. .

Answer:

Watch Video Solution

1

√3

4. Value of  is

A. -1

B. 0

C. 1

D. 1/2.

Answer:

Watch Video Solution

[cos(40∘ + θ) − sin(50∘ − θ)]

https://dl.doubtnut.com/l/_LCF4dZalSG4Z
https://dl.doubtnut.com/l/_5lzEOXehBgEG


5. If  and  then  =

A. 4/5

B. 4/3

C. 5/4

D. 3/4.

Answer:

Watch Video Solution

α + β = 90∘ cot α =
4
3

cot β

6. If  and , then the value of  is

A. 

B. 

C. 

D. 

0∘ < θ < 20∘ cos2 6θ − cos 6θ = 0 θ

15∘

16∘

17∘

18∘

https://dl.doubtnut.com/l/_DGXHZf3WpAOw
https://dl.doubtnut.com/l/_OOygUSQy3rj8


Answer:

Watch Video Solution

7. If , then  =

A. 0

B. 

C. 

D. 1

Answer:

Watch Video Solution

tan 2α = cot 2β sec(α + β)

√3

√2

8. If , then  =

A. 0

tan 2θ. tan 3θ = 1 sin 5θ

https://dl.doubtnut.com/l/_OOygUSQy3rj8
https://dl.doubtnut.com/l/_v22vYGeT468V
https://dl.doubtnut.com/l/_4MIkl9411T5Z


B. 1

C. 

D. none of these.

Answer:

Watch Video Solution

1

√2

9. If , then the value of x is

A. 

B. 

C. `45^@~

D. 

Answer:

Watch Video Solution

sec(90∘ − α) = 4 − cos ecα(0∘ < α < 90∘ )

75∘

60∘

30∘

https://dl.doubtnut.com/l/_4MIkl9411T5Z
https://dl.doubtnut.com/l/_OrJUMHTUaY7W
https://dl.doubtnut.com/l/_kgoP0YCdxqmF


10. Calculate the slope of a line, that passes through the origin, and the

mid-point of the segment joining the points P (0, -4) and B (8, 0).

A. 1/2

B. 1/3

C. -1/2

D. -1/3

Answer:

Watch Video Solution

11. `Sin 2A = 2sin A is true when A =

A. 

B. 

C. 

D. 

0∘

30∘

45∘

60∘

https://dl.doubtnut.com/l/_kgoP0YCdxqmF
https://dl.doubtnut.com/l/_RFFtbvd6Dmi2


Answer:

Watch Video Solution

12. It , then  is equal

to____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A + B = 90∘ −
tan A tan B + tan A cot B

sin A sec B

sin2 B

cos2 A

cot2 A

cot2 B

−tan2 A

−cot2 A

13. If tan A = cot B, then prove that A + B = 90°.

Watch Video Solution

https://dl.doubtnut.com/l/_RFFtbvd6Dmi2
https://dl.doubtnut.com/l/_qOgP3U50cEXW
https://dl.doubtnut.com/l/_X2Jv3zO7rvE0


14.  equals___

A. 

B. 

C. 

D. None of these.

Answer:

Watch Video Solution

(sin2 22∘ + sin2 68∘ + cot2 68∘ )

cot2 22∘ cos ec268∘

tan2 22∘ cos ec268∘

cos ec268∘

15.  is equal to___

A. 

B. 

C. 

2tan 30∘

1 − tan2 30∘

cos 60∘

sin 60∘

tan 60∘

https://dl.doubtnut.com/l/_X2Jv3zO7rvE0
https://dl.doubtnut.com/l/_7wNrup7udrAL
https://dl.doubtnut.com/l/_kuuDJW1xiQ6H


D. 

Answer:

Watch Video Solution

sin 30∘

16. If  and  are acute angles such that 

 then  equals____

A. 1

B. -1

C. 

D. 

Answer:

Watch Video Solution

θ (2θ − 45∘ )

cos ecθ cos(2θ − 45∘ ) = 1 tan θ

√3

1

√3

https://dl.doubtnut.com/l/_kuuDJW1xiQ6H
https://dl.doubtnut.com/l/_YnVB6Gb8EAhV


17. A, B and C are interior angles of a triangle ABC, then  =

A. sin A/2

B. cos A/2

C. - sin A/2

D. - cos A/2

Answer:

Watch Video Solution

sin( )
B + C

2

18. The value of  is___

A. -1

B. 0

C. 1

D. N.O.T.

tan 10∘ tan 15∘ 75∘ tan 80∘

https://dl.doubtnut.com/l/_BShqrpWZrdUG
https://dl.doubtnut.com/l/_K0ZPeipAWUIN


Answer:

Watch Video Solution

19. If  and  are acute angles satisfying  then 

 is equal to____

A. 

B. 

C. 0

D. 1

Answer:

Watch Video Solution

5θ 4θ sin 5θ = cos 4θ

2 sin 3θ − √3 tan 3θ

1 − √3

1 + √3

20. 

[sin2 1∘ + sin2 2∘ + sin2 3∘ + ………………. . + sin2 87∘ + sin2 88∘ +

https://dl.doubtnut.com/l/_K0ZPeipAWUIN
https://dl.doubtnut.com/l/_Yp1OBBCjkYMO
https://dl.doubtnut.com/l/_FWGwRrS9rFhu


equals____

A. 44

B. 44.5

C. 22

D. 22.5

Answer:

Watch Video Solution

21. 

equals____

A. 22

B. 44

C. 22.5

(sin2 1∘ + sin2 3∘ + sin2 5∘ + ………………… + sin2 85∘ + sin2 87∘ +

https://dl.doubtnut.com/l/_FWGwRrS9rFhu
https://dl.doubtnut.com/l/_0FgRo2ONd9Jb


D. 44.5

Answer:

Watch Video Solution

22. The value of 

is____

A. 

B. 

C. 1

D. 2

Answer:

Watch Video Solution

cos(90∘ − θ)sec(90∘ − θ)tan θ

cos ec(90∘ − θ)sin(90∘ − θ)cot(90∘ − θ)
tan ( 90 ∘ − θ )

cot θ

sin θ

cos θ

https://dl.doubtnut.com/l/_0FgRo2ONd9Jb
https://dl.doubtnut.com/l/_qJP6qlB5WvcX


23. The value of  is____

A. 

B. 

C. 

D. None of these.

Answer:

Watch Video Solution

tan 47∘ + cot 27∘

tan 43∘ + cot 63∘

cot 47∘ tan 27∘

cot 47∘ cot 27∘

tan 47∘ cot 27∘

24.  equals____

A. 0

B. 1

C. 2

D. None of these.

(1 + sec 20∘ + cot 70∘ )(1 − cos ec20∘ + tan 70∘ )

https://dl.doubtnut.com/l/_n6qfnpp01ufk
https://dl.doubtnut.com/l/_mb0zNhndliSe


Answer:

Watch Video Solution

25.  are positive acute angle and , then___

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α, β sec2 α − cot2( ) = 1
β

2

α = β

α + β =
Π
2

α + 2β = Π

2α + β = Π

26. ABCD is a cyclic quadrilateral and

 equals_____tan( )tan( ) + tan( )tan( )
A

2
C

2
B

2
D

2

https://dl.doubtnut.com/l/_mb0zNhndliSe
https://dl.doubtnut.com/l/_fmtX2nqq9BtP
https://dl.doubtnut.com/l/_pdVM3MFhcE5O


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

27. If  and  then which is true?

A. 

B. 

C. x = y

D. xy =1

Answer:

Watch Video Solution

cos(67∘ 30' ) = x cos ec(22∘ 30' ) = y

x2 + y2 = 1

x2 − y2 = 1

https://dl.doubtnut.com/l/_pdVM3MFhcE5O
https://dl.doubtnut.com/l/_MyI1jWlOiMV4


28. If , the value of 

 is____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos ec39∘ = x

+ sin2 39∘ + tan2 51∘ −
1

cos ec251∘

1

sin2 51∘ sec2 39∘

√ 2 − 1
x

^

√ x21

−

x2 − 1

1 − x2

29.  equals

to

A. 7.5

B. 8.5

sin2 5∘ + sin2 10∘ + sin2 15∘ + ......... + sin2 85∘ + sin2 90∘

https://dl.doubtnut.com/l/_MyI1jWlOiMV4
https://dl.doubtnut.com/l/_GKzrt1nrnSlQ
https://dl.doubtnut.com/l/_kJGSxSERCL6O


C. 9

D. 9.5

Answer:

Watch Video Solution

30. If A, B and C are three angles of a triangle, then the incorrect relation

is_____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos( ) =
A + B

2

sin c

2

tan( ) =
A + B

2
sec c

2

sin( ) =
A + B

2
cos c

2

cot( ) =
A + B

2

tan c

2

https://dl.doubtnut.com/l/_kJGSxSERCL6O
https://dl.doubtnut.com/l/_LvpYfK9nAZ8y

